: FmEBE s=1:500 !

%
\>;,\ ?17 S
N DN b HHARMBEER L=112m
v N Y% ¥
» I H
“ 043
& &
[ N e,
3t 3 !
W ¥ 2\& <
H H !
= 5
i o\8 ¥
H f% L H
1t = 1t o
= 1 . = "‘_"2, 4.89
m <\o
= B\ ) o —
—_ ELY 45204
) >
2

) s _ g SR ETEEA FNAN
4.75 . 14+ 7% T = 5. 10K . 4 - —
% T g HRABR  K=130387. 489 Y=68335.
: 4.60 a7 7 T4 506 4w gy 5.1 58454 50 55 mrRes tE 48—
280 = IP-3 5.05 WRAR__X=164786. 657 ¥=5209
47 4.81 478 4.84
=463 £ K
#AMMBKBR/NIEE W=10. 5m s 20 |BANEE R = KRB
e T — 4% h TEA|  SERLEREMIE
[ ] #mmmxm Ny b | M= g . -
. " = S ’ U & S ETIEAEAET
. S .
: 2,90, . * . [T FER
[ ] =BeRxxE -
- = # R| s150 |mEEs|
i 2.95
== ) ERERR
e X1 e

A BEE4 EIRERLREHH




